

## Klammern - 1 (Lösung)

$$(-54) - (+22) = -54 - 22 = -76$$

$$(+2) + (+24) = 2 + 24 = 26$$

$$(-12) + (-28) = -12 - 28 = -40$$

$$(+24) + (-36) = 24 - 36 = -12$$

$$(-5) - (-6) = -5 + 6 = 1$$

$$(+135) + (-134) = 135 - 134 = 1$$

$$(-45) + (+32) = -45 + 32 = -13$$

$$(-88) + (-33) = -88 - 33 = -121$$

$$(-45) - (-23) = -45 + 23 = -22$$

$$(-99) - (+21) = -99 - 21 = -120$$

$$(+76) + (-12) = 76 - 12 = 64$$

$$(+44) - (-25) = 44 + 25 = 69$$

$$(+14) - (+63) = 14 - 63 = -49$$

$$(-32) + (-11) = -32 - 11 = -43$$

$$(+69) + (+122) = 69 + 122 = 191$$

$$(+254) + (-223) = 254 - 223 = 31$$